
Arithmetic Series Introduction 
(Criterion B Formative Assessment) 

 

An arithmetic series is the sum of an arithmetic sequence. For example: 

 

18141062   

 

10...321     (This means 10987654321  ) 

 

40...13107    (This means 40373431282522191613107  ) 

 

Level 1 – 2  

 

1. Write down the value of the following series: 

 

a) 4321     ………………………………………………………… 

 

b) 1411852     ………………………………………………………… 

 

c) )2(2610     ………………………………………………………… 

 

d) 33...18138     ………………………………………………………… 

 

e) 30...141210    ………………………………………………………… 

 

f) )19(...)7()5()3(   ………………………………………………………… 

 

g) )16(...)4()1(2   ………………………………………………………… 

 

2. In each of the following, write down how many terms are being added together. For example, in the 

series 171411852   there are 6 terms being added together. In the series 9753   there 

are 4 terms being added together.  

 

a) 13579     ………………………………………………………… 

 

b) 33302724211815   ………………………………………………………… 

 

c) )13()10()7()4(   ………………………………………………………… 

 

d) 51...15117     ………………………………………………………… 

 

e) 45...17103    ………………………………………………………… 

 

f) 37...1371     ………………………………………………………… 

 

g) )41(...)5()1(3   ………………………………………………………… 

 



 Level 3 – 4  

 

3. If the first term is 1t and the last term is nt show that the number of terms in a series is equal to  

 

11 



d

tt
n n . 

 

………………………………………………………………………………………………… 

 

………………………………………………………………………………………………… 

 

………………………………………………………………………………………………… 

 

4. Consider the following series: 

 

25221916131074   

 

a) Write down the value of the following: 

 

i) 81 tt   …………………………  ii) 72 tt   …………………………  

 

iii) 63 tt   …………………………  iv) 54 tt   ………………………… 

 

b) What do you notice about your answers?  ………………………………………… 

 

c) Write down a simple multiplication which represents the value of this series. Calculate this value. 

 

………………………………………………………………………………………………… 

 

5. Consider the following series: 

 

42383430262218141062)2(   

 

a) Write down the value of the following: 

 

i) 121 tt   …………………………  ii) 112 tt   …………………………  

 

iii) 103 tt   …………………………  iv) 94 tt   ………………………… 

 

v) 85 tt   …………………………  vi) 76 tt   ………………………… 

 

b) What do you notice about your answers?  ………………………………………… 

 

c) Write down a simple multiplication which represents the value of this series. Calculate this value. 

 

………………………………………………………………………………………………… 



Level 5 – 6  

 

6. For the following series 

 

i) Write down the common difference 

ii) Determine how many terms there are 

iii) Find the sum of the first and last term 

iv) Write down a simple multiplication which represents the value of this series. Calculate this value. 

 

a) 10...321            i) ………………………………………… 

 

            ii) ………………………………………… 

 

            iii) ………………………………………… 

 

            iv) ………………………………………… 

 

 

b) 45...1593            i) ………………………………………… 

 

            ii) ………………………………………… 

 

            iii) ………………………………………… 

 

            iv) ………………………………………… 

 

 

c) 1411...18114           i) ………………………………………… 

 

            ii) ………………………………………… 

 

            iii) ………………………………………… 

 

            iv) ………………………………………… 

 

 

d) )213(...)17()13()9(          i) ………………………………………… 

 

            ii) ………………………………………… 

 

            iii) ………………………………………… 

 

            iv) ………………………………………… 

 

 

 

 

 



 Level 7 – 8  

 

7. Consider the series 404...1284  . 

 

a) Complete the following: 

 

S = 4 + 8 + 12 + … + 400 + 404 

 

S = 404 + 400 + ____ + … + ___ + ___ 

 

2S = ___ + ___ + 408 + … + 408 + 408 

 

 

b) Calculate how many terms there are. ……………………………………………………… 

 

c) Write down an equation involving only S. Solve the equation to find the value of S. 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

8. Using the same method as the previous question show that the sum nS of the first n terms of an 

arithmetic sequence with common difference d is  

 dnt
n

Sn )1(2
2

1   

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

+ 



9. Show that an alternative formula for the sum nS of the first n terms of an arithmetic sequence is 

 

)(
2

1 nn tt
n

S   

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

10. Calculate 

 

a) The sum of all odd numbers between 200 and 350.   

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

b) The sum of the first 200 even numbers greater than 10. 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

c) The sum of the 50 largest odd numbers less than 300. 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

d) The sum of the 80 smallest positive integers not divisible by 7. 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

……………………………………………………………………………………………………… 

 

 


